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Travel Addition

Solve the following word problems.

John started his journey with 2,500 miles on his
car. He traveled 3,200 miles to reach his first
destination and then traveled another 1,500 miles
to reach his second destination. How many miles
did he travel in total?

On her trip to Europe, Lisa visited 3 cities. She
spent 3,500 dollars in the first city, 2,000 dollars in
the second city, and 1,500 dollars in the third city.
How much money did she spend in total?

A family is planning a road trip. They estimate that
they will travel 3,000 miles to the first destination,
2,500 miles to the second destination, and 1,500
miles to the third destination. How many miles will
they travel in total?

During a summer vacation, a family traveled 4,000
miles to visit relatives, 2,000 miles for a beach trip,
and 1,000 miles for a camping trip. How many
miles did they travel in total?

A travel agency sold 3,000 tickets for a cruise,
2,000 tickets for a safari, and 1,000 tickets for a
city tour. How many tickets did they sell in total?

A tourist visited 3 cities in a day. He spent 4,000
dollars in the first city, 2,000 dollars in the second
city, and 1,000 dollars in the third city. How much
money did he spend in total?
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